
Jeep Wrangler JK (2007-2018)
Fender Flares (Front & Rear)

Contents:
(2)  - Front Fenders
(2)  - Rear Fenders
(1)  - Hardware Kit

Flat Blade Screw Driver
Tools Required:

Socket Set 
Drill and Drill Bits

5

Install the supplied foam on the back side of the 
fenders as seen above.

Clearly mark the holes for drilling.  Remove the 
fender for ease of drilling.  Using an 11/32" drill bit, 
carefully drill the (2) rear most holes on the front 
fenders.  **Note: Keep the drill level, drill through 
both the outer and inner fender.  

Install the Barricade Flat Fenders using the supplied 
M8x1.25 25mm long Allen bolts, install the forward 
most (5) bolts first.  **Note:  Loosely install all 
hardware before fully tightening bolts to ensure 
proper bolt hole alignment. 

Install the supplied spacers between the inner and 
outer fenders using the M8x1.25 120mm bolt for 
the long spacer and the M8x1.25 65mm bolt for the 
shorter spacer.

Begin by removing the factory fender liners, there 
are (5) 10mm bolts.  Remove the factory marker 
light harness from the light and zip tie it out of the 
way.   Remove the factory fender by firmly pulling 
it away from the vehicle. Start from the front of the 
fender and work towards the rear.  The factory 
clips will most likely break, the clips will not be 
reused.  

(4)  - Foam Strips

2

J125976
J107018

1 3

4

Front Fender Install:



Install the supplied rivnuts in the (8) holes circled 
above. Begin by drilling the rivnut holes to 23/64”.

Using the supplied handle and long M6x1.0 install 
the rivnuts.  Hold the rivnut in place with the handle 
and tighten the rivnut securing it to the vehicle.  
**Note: Rivnuts are more susceptible to stripping, 
Do not over tighten them.  

2

3

4

Install the supplied foam to the fender before 
installation.  

1

Using a flat head screw driver, remove the (5) push 
clips holding the rear fender liner to the vehicle.  
Then firmly pull the stock fender away from the 
vehicle moving from front to back.  The factory 
clips will most likely break, the clips will not be 
reused.  

Rear Fender Install:

5

Install the M6x1.00 25mm bolts with the supplied 
washer and lock washer on all locations with the 
installed rivnuts.  


